Efficiency vs hit

0.5

o

o

efficiency vs hits

o

0.0! ¢
g -4
g |
o
0.95 | i
0 10 20 3 O 80
TP hits
—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127
[Efficienc| —— DQM_TT__mKFit-DQM_mod_updated-127
[ .8
@
>
Kol
1
>
>
[3)
c
2
1]
=
@
i<
T
o
0.95
0 10 20 25
TP layers

Efficiency vs pixel layer

0.5

o

efficiency vs pixel layers
o o
©O N © w 9 »

0.1!

1 2 3 4 5 6 8
TP pixel layers

Efficiency vs 3D layer

0.5

efficiency vs 3D layers

0 2 4 6 8101214161820

TP 3D layers




	Contents
	Page 1


